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Lines of best fit

strong positive 
correlation

strong negative 
correlation

weak negative 
correlation

A line of best fit is drawn on a scatter plot to show the linear 
trend in a set of paired data.

weak positive 
correlation

The stronger the correlation, the closer 
the points are to the line.

We can find the equation of a line of best 
fit by calculating the slope and y-intercept.
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Choosing a function type

When we find the equation of the line of best fit for a scatter 
plot, we are effectively saying “This data follows a linear trend, 
so I can fit a linear function to the data.” 
Fitting a function to data in this way is called regression and 
the line we find is called the regression line.

Not all data follow a linear trend though.

exponential quadratic

What type of function best fits these scatter plots?
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What type of function?
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Regression using calculators
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The value of r

When you use the linear regression feature, your calculator 
will display the value of r, the correlation coefficient. 

The value of r indicates the strength of 
association between two variables. It shows 
how close points lie to the regression line. 

r can be between 1 and –1, inclusive

The closer the value of r is to 1 or –1, 
the better the regression line fits the data 
and the stronger the correlation. 

As r approaches zero from either side, it indicates 
that the equation is not a good fit for the data. 
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Linear correlation
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App downloads
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Estimating values

The table below shows the average 
value of a particular model of car, 
depending on its age.

Use your graphing calculator to find a regression line for 
this data. Use it to estimate the original value of the car.

age (years) 2 4 6 8 10 12

value ($) 24,340 18,290 12,530 8,760 5,510 2,780

The regression equation is y = –2141.5714 x + 27026.

The value of the car was around $27,026.

The original value of the car will be at 0 years, which is 
the y-intercept of the regression line.

Plotting the data shows that it follows a linear pattern.
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